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1 Richardson’s extrapolation
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1.1 Neville’s algorithm

s, 00000000000000000000 sy, 82, 8n,...0000
;000000000 S(z)0000

s; = S(15) = 8¢ + 115 + Cox7 + ... A e+ . (1)

obooobbbtds, — 00000000 ;000 s, —s. 0000
gboboboogoobbbuoooobbobooodd



()00000000s.=80)000000S(z) 0000000000
000000000000 000000 s 00000000000000
OD00000Neville’s algorithm OO OO0 00 O0O0OONeville’s
algorithm 000 0000000000000 0000O0O0OOOOOOO
00000000000000000000000000000000
0000000

0000000 (0000000 00)0000

fulz) = fi,  folz)=fo,  fi(x) = fs (2)
DDDDDDDDD1DDDDDDDDDDD(AppendiXADD)DDDD
(x —x) fi1 — (x =i+ 1) f;

Tit1 — L4
000020000
for = (z — xl)fm(z : (;1 — 73) fu ()
fay = (. — x9) fa1(x) — (x — x3) fr (¥)
32 =
T3 — X2

0000000000000 2000100000000000000
0000000020000000000000000 fa(z), f2(z) 00
0000 (2, ,) 00000000 (2, f1), (z3, f2) 0 200000000
000000000

(z — 1) f32(x) — (x — x3) fan()

T3 — T1

fss(z) =

go20000000000b00b00b00b0b0oboooboobobo

X1 Ju(x)

N

X2 || fau(x) — fra(x)

NN

X3 || f31(x) — f32(x) — fa3(x)




«Neville’s algorithm
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1.2 Richardson’s extrapolation
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«Richardson’s extrapolation
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2 Romberg integration
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«Euler-Maclaurin expansion
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